03164_A EIFEORKE | Wik iR4] A &

7= miiEA

M
4N,

I
211t (33-39 HRC) MB B E(LALE,

BR:
EOREXIMAEANEFROLMKEIH,

B RERNBE R REF D
W RN E DR E,

RERT
R~ H#E=DHRMEE,

1) 0 HE

AR :

SEEORE  ERPRELH,
BERETHIHNRARE D,

}

, (HOFETS)
@ 7‘ ';gné F: O DenzrwkrEs
> “nh 5 @ EBBEHELT THOET

ATEBHEARE  SRFIARREEQREL,
RFAREEERORR LT,

© norelem www.norelem.com



03164_A EIFEORKE | Wik iR4] A &

1
v
S

L H
g} el

03164-10804 A M4x12 8 10,3 55 0,9 7.3 2,5 0,9 21
03164-11005 A M5X15 10 12,3 6,4 1.1 9,1 3 1,5 4,3
03164-11206 A M6X18 12 16,3 8,6 1,3 11,2 4 2,1 7,3
03164-11608 A M8X25 16 22 11,5 1,6 16,2 5 4 18

© norelem www.norelem.com



